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Finding Rule w/ Two Steps Name:

Deter mine which rule best representsthe expression the function machine used. Answers
1) Input (J) 6 | 7| 5|10| 8 A.Jx2-5 B.Jx 6
Output 8 | 9|7 |[12]10]| CJIJx6+6 D.J+2 L
2.
2) | Input(U) | 13| 15|10 |12 | 11| A.Ux8+8 B.U-5
output | 8 |10 5| 7| 6| cuxs D.Ux8 3
4.
3 | Inputw) | 5|6 |10| 8| 7 AW x4 B.Wx4+9
5.
Output 29 | 33 | 49 | 41 | 37 C.Wx9 D.Wx4+11
6.
4 | Input(N) | 5| 6 | 8| 7 |10| ANx11-3 B.Nx8-5 ,
Output 40 | 48 | 64 | 56 | 80 | C.N+3 D.Nx8 '
8.
5) Input (P) 8 10| 7 | 6 | 5 A.P+3 B.Px3+11 o
Output 11 | 13| 10| 9 | 8 C.Px3-10 D.P+9 '
10.
6) | Input(v) | 7|10| 8| 6| 5| AV+6 B.V+7
Output 35|53 |41 |29 | 23 C.Vx5-7 D.Vx6-7
7) | Input (2) 5|1 8| 7 |10]| 6 A.Zx6 B.Zx8+8
Output 22 | 40 | 34 | 52| 28| C.Zx6-8 D.Zx6-9
8 | Input(K) |10| 8 | 5| 6 | 7| AKx3 B.Kx3+8
Output 38|32 |23 |2 |29 C.Kx8+8 D.Kx3+11
9 | Input(G) 5110 6 | 7 | 8 A.Gx5-4 B.Gx2+6
Output 14 | 24 | 16 | 18| 20| C.Gx2 D.Gx2+4
10) | Input(F) | 6 | 8| 7 | 5| 10| AFx9+4 B.Fx5+7
Output 3040 |3 | 25|5 | CFx5 D.Fx5-6
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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Finding Rule w/ Two Steps

Name:

Answer Key

Deter mine which rule best representsthe expression the function machine used. Answers
1) Input (J) 6 | 7| 5|10| 8 A.Jx2-5 B.Jx6 D
Output 8 | 9|7 |[12]10]| CJIJx6+6 D.J+2 L=
2. B
2) | Input(U) | 13| 15|10 |12 | 11| A.Ux8+8 B.U-5 B
output | 8 |10 5| 7| 6| cuxs D.Ux8 3
s D
3 | Inputw) | 5|6 |10| 8| 7 AW x4 B.Wx4+9 A
Output 29 | 33 | 49 | 41 | 37 C.Wx9 D.Wx4+11 >
6. D
4 | Input(N) | 5| 6 | 8| 7 |10| ANx11-3 B.Nx8-5 , C
Output 40 | 48 | 64 | 56 | 80 | C.N+3 D.Nx8 '
g. B
5) Input (P) 8 10| 7 | 6 | 5 A.P+3 B.Px3+11 o D
Output 11 | 13| 10| 9 | 8 C.Px3-10 D.P+9 '
0. C
6) | Input(v) | 7|10| 8| 6| 5| AV+6 B.V+7
Output 35|53 |41 |29 | 23 C.Vx5-7 D.Vx6-7
7) | Input (2) 5|1 8| 7 |10]| 6 A.Zx6 B.Zx8+8
Output 22 | 40 | 34 | 52| 28| C.Zx6-8 D.Zx6-9
8 | Input(K) |10| 8 | 5| 6 | 7| AKx3 B.Kx3+8
Output 38|32 |23 |2 |29 C.Kx8+8 D.Kx3+11
9 | Input(G) 5110 6 | 7 | 8 A.Gx5-4 B.Gx2+6
Output 14 | 24 | 16 | 18| 20| C.Gx2 D.Gx2+4
10) | Input(F) | 6 | 8| 7 | 5| 10| AFx9+4 B.Fx5+7
Output 30|40 |3 |25 |5 | CFx5 D.Fx5-6
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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